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19. (1259 53(\‘“\_
1) 2 6 2 8 Ng (341)

1 4 1 %} (341)
%\ X
@ @ / (243)

5 ngrmj_xrn‘onml_uxs?%

% a ximn 36.5g¢ / mol

1% (441)
22471 1.19g / mL x1000mL/ L x37%

20. (1643)
(D ®  NH;+H,0—=NH,-H,0+H" (447)

(2) Sf& H, Mg+2NH;+2H,0=Mg™+2NH, -H,0+H, T

## NH] +H,0——NH,-H,0+H" Mg+2H" =Mg™ +H, T (64)

(3)NH,". CI". H'. OW Cl” oW (647)

= (R@EG2NE, 427 4

21. (1243)

(1) KOH KHCO, K(C0, CO, (841)
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(2) 2KOH+CO, = K.CO,+H,0  KOH +C0, =KHCO, (441)
22. (1541)
Cu(NOY), Cu(OH), Cu0 CuSO, Cu (1043)
Oe O @@ (543)
PO, (&g 21 4)
23. (1) CHO (241)
A
(2) CH,CH,CHO +2[Ag(NH,), JOH=CH,CH,COONH,+2Ag { +3NH, T +H,0
A
H,CH,CHO+2Cu(OH)2=CH,CH,COOH+Cu,0 4 +H,0 (647)
0
(3) CHH(IZCHa (243)
(4) CH,=CH-CH,0H (241)
2CH.=CH-CH,OH+2Na=2CH,=CH—CH.ONa+H, T P (241)
2= 2 a= 2 2 at ;] \\)

116 (241)

(B3 3 ,'i/:" . (241)
I

Fi. (K 10 4, {Fik—E) N

24. % BHEWMP S HIBW WA x X&
Wl: 0.500LX3mol/LX :x><1.34gme><93% x=S81. 5mL (541)
6 A1 R 2R 500mL 5 208/ mL =600g

O8%Ti R 1Y) R B 28 1. X 1. 84g/mL=150g

S 7 7K i B 2 600g-150g =450g 5{450mL (541)
. WIS HYHIAESL. SmL, /K450mL.

25. HAME: (5120/22. 4L/mol) X 17. 0g/mol =389g (243)
SCE IR R 4T 3=1389g/ (1000g+389g) =0. 2801§28. 0% (441)
FIHMA R AR = (1000mol/LX0.90g/mLX28.0%) / (17.0g/mol)

=14. 8mol/L (441)

7. (AR 10 4, {Fik—5E)

26.
f#: (1) 2HCl+CaCO, =CaCl,+CO, T+H,0

T3g 100g
X 0. 0g
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. =T3x5.ﬂ
JHFEHC1 AT &R x 00 &

, 73x5.0 1
HC1 AR =
LR = 0~ 8 e mL =020

=17mL
(2) CaCO,5C0M4MEMIE 2L AL: 1

5.0g

CO A= 100g/mol

x22.4L / mol

=1.1L
27. . NaOCLHINH,H4 5 i & 47 5l 2

150g

n(Na0Cl) = ——=—
74.5g/mol

=2.01mol

120 =5.00mol - =

4L/mol \\)

n(NH,) =
22

(541)

(541)

(241r)

(241)

EAFETTREA, PR B A B2 n (NaOC1) ®)=1: 2 P LA HNH, 2 e
253

NH, 7= 4 Na0C L g B 82 %
LA R, n(Na0C1): n(NH) =1: 1 INH TN
m(NH) =2. 0lmol X 32. 0g/mol =64. 3g /%}?ﬁ'

o
>I\\> |

(451)
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